CHAPTER 7 SOURCES OF RISKS AND THEIR DETERMINATION
1.
Because the future is not known with certainty, we define risk as the uncertainty associated with the future.
One way to measure risk is to look at how spread out our outcomes are around the average value of these outcomes. Both the variance and standard deviation are ways to measure this dispersion.
2.


(a) Ca11 Risk:
The variability of return caused by the repurchase of the security before its stated maturity
(b) Convertible Risk:
The variability of return caused when one type of security is converted into another type of security.
(c) Default Risk:
The probability of a return of zero, when the issuer of the security is unable to make interest and principal payments. Or for equities, the probability that the market price of the stock will go to zero when the firm goes bankrupt.
(d) Interest Rate Risk:
The variability of return caused by the movement of interest rates.
(e) Management Risk:
The variability of return caused by bad management decisions, this is usually a part of the unsystematic risk of a stock, although it can affect the amount of systematic risk.
(f) Marketability Risk:
The variability of return caused by the commissions and price concessions associated with selling an illiquid asset.
(g) Purchasing Power Risk:
The variability of return caused by inflation which erodes the real value of the re turn.
(h) Systematic Risk:
The variability of a single security's return which is caused by the general rise or fall of the entire market.
(i) Unsystematic Risk:
The variability of return which is caused by factors unique to the individual security.

(j) Efficient Portfolio:
The efficient portfolio is that there is no other portfolio has a higher expected return as the same risk of returns or no other portfolio has a lower risk of returns as the same expected return.
3.
E(RP) = WA E(RA) + (1 – WA) E(RB)
= .3(12%) + (1 – .3)(16%)
= 14.8%
COV(R ) = WA2 Var(RA) + (1 – WA)2 Var(RB)
+ 2 WA(1 – WA ) COV(RA, RB) 
= (.3)2 (2%) + (1 – .3)2 (3%)
+ 2(.3)(1 – .3)(1%)
= 2.07
4.
Number of Variance Terms = n

Number of Different Covariance Terms = 
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Var Terms = 25

Cov Terms =
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5.

a)
E(RA) = .20(10%) + .30(11%) + .50(12%)
         = 11.3% 
Var(RA) = .20(10 – 11.3)2 + .30(11 – 11.3)2
+ .50(12 – 11. 3)2 
= .61
E(RB) = .20(9%) + .30(8%) + .50(6%)
             = 7.2% 
Var(RB) = .20(9 – 7.2)2 + .30(8 – 7.2)2
+ .50(6 – 7.2)2
= 1.56
E(RC) = .20(20) + .30(10) + .50(20)
= 17% 
Var(RC) = .20(20 – 17)2 + .30(10 – 17)2
+ .50(20 - 17)2 
= 21
b)
Cov(RA ,RB) = .20(10 – 11.3)(9 – 7.2)
+ .30(11 – 11.3)(8 – 7.2) 
+ .50(12 – 11.3)(6 – 7.2)
= –.468 + –.072 + –.42
= –.96
Cov(RA ,RC) = .20(10 – 11.3)(20 – 17)
+ .30(11 – 11.3)(10 – 17)
+ .50(12 – 11.3)(20 – 17)
= –.78 + –.27 + 1.05
= 0
Cov(RA ,RC) = .20(9 – 7.2)(20 – 17)
+ .30(8 – 7 .2)(10 – 17) 
+ .50(6 – 7.2)(20 – 17)
= 1.08 + –.72 + –1.8
= –1.44
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c)
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6.
The dominance principle works by comparing the risk and return of two portfolios when one of the factors (either risk or return) is held constant.
For example, Portfolio A dominates Portfolio B if:
1)
The two portfolios have the same risk but A has a higher expected return.
2)
The two portfolios have the same expected return but A has a lower risk.
This concept can be used to define the efficient frontier by eliminating portfolios which are dominated by others.
7.
Both the Sharpe and Treynor performance measures look at the ratio of excess return to risk. However, the Sharpe measure uses total risk, while Treynor uses the systematic risk. When all portfolios are well diversified, then the two measures will give identical rankings.
8. By the definition of SP and TP formulas as follows:
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Then we can obtain the value of SP and TP for portfolio A through F.
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	Portfolios
	(%)
	(%)
	(%)
	SP
	TP

	A
	10
	 4
	2
	2.49 
	4.98 

	B
	 8
	12
	3
	0.66 
	2.65 

	C
	11
	 9
	2.4
	1.22 
	4.56 

	D
	13
	20
	1.5
	0.65 
	8.63 

	E
	 9
	 6
	1.7
	1.49 
	5.26 

	F
	 7
	 2
	0.3
	3.48 
	23.17 


Ranked by the SP, portfolio F > A > E > C > B > D. However, the order changes to F > D > E > A > C > B if we rank portfolio by the TP. 
9.
If the JM is divided by beta, it is equivalent to the TP minus some constant as follows
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